L FEEILIN GEN D RBRFFRT)
SBEE  SFI5EQ0234)4 A2 H~SF06E Q024 E)4 A 1 BEER

[—] =

E B 6% 5 Ahf & Y B
®rE B B2Ha—XR. X - KIEH

RE R FHIREE8:40~11:20
FREF8:40~14:20

AR E 10,000 M
BANEH BEH |[HRAEEGA~ ek

2,700 M
13,500 M 2,300 A (R/NRE R 2,200 F)

XBREBEICOVT HSERRIGBAEREICLY., MR (2 200 T2 EMNHRET,
KEERIRH. BERBF 2REHEEIEIZEL, X4A. ARVEEEFEFEA

BEFCHRE] —a2=a55R KR

RENHETIE., XRRDOEFSEFZHRICHBEMEHRFSINHLDIHFE LT,
[Zaz=a95R] ZHEWVELET,
HES—ILZIE> TEFTHRIBLEME, UXLHFUHEDELVWYHBEC>ZZEL T,
BFIFORERZLELHICRSFY., BEUHATLER>THEYFETS,

- FRE 1000 M (&fl. RIEH. BME)

- R JKEEBR £ 20 EIEE

- BERY 10:30~11:30

- XRER 2mER (R5.4.2~R6.4.1) 1m=R (R6.4.2~R7.4.1)
CHLAH BEEZAFVLTEYET,

FELETLEE s OF

PHEFCEOLNTWEVWTIRRE~2REOEFSETEL, ASYHHETEEMY
$HENTEFIT, (AI0KMERA) XEFELLE, BELEHhELESL,

EERK YHHEOEEHEV

RENHBEOMSEOHEETEHEULEL LD
AEBHFETYT, 10:30~11:30
XKEBHFHNILE - SMEEHTY
MR BEITEZETEEHY OFFIE
HPIZTHHMLEW:=LET,




